PB

teen

Oxford Media
Assembly Instruction

Safety Instructions:

e  The top shelf of this TV stand is intended for use with:

Plasma/LCD/DLP/HD television having a maximum scree n size of 50 inches and weight of 135 Ibs:
e  The other support shelf should not be loaded more t han 25 lbs.
e  This unit contains a permanent sticker located eith er beneath top shelf or inside drawer.
Caution:
Electronic component that generate heat, may cause damage to the equipment.
Please refer to the manufacturer's owner's manual f or space and ventilation requirement.

Pre-Assembly:

e Please read all instructions before beginning assem bly.

e For your safety and convenience, assembly by two ad ult is recommended.

e  Carefully set out and identify all part hardware pr ior to assembly.

e Save all packing materials until assembly is comple te to avoid accidentally discarding small

part or hardware.

Part Enclosed in Box 1: Hardware Enclosed:

e (1) Top Panel(A) e (14)Allen Bolts M6 x 35mm (G)
e (2) Side Panels(B) e (2) Allen Bolts M6 x 50mm (H)
e (1) Storage Cabinet(C) e (12)Wooden Dowels M8 x 30 (1)
e (1) Partition Panel(D) e (1) Allen Key M4(J)

e (1) Back Panel(E) e (7) Screw 6 x 5/8"(K)

e (1) Leg support(F)
(G) (H) 0] )
|

|-

To Assemble:

1. Carefully lay the side panel (B) on a flat scratch- free or carpeted surface. Insert the
wooden dowels (1) into the holes on one side panel (B), as shown in figure 1.

2. Remove the drawers from the storage cabinet (C) as shown in fig 2. Attach the storage cabinet
(C) to the side panel (B) by inserting the wooden d owels (I) on the side panel (B) into the
holes on the side frame of the storage cabinet (C). Insert the Allen Bolts (G) through the
holes on the cleat and the side frame of the storag e cabinet (C). Tighten with the Allen Key

(J)( Do not over tighten),asshown in figure 3, illustration 1.

"I llustration.1

B FC




Attach the leg support (F) by inserting the hanger bolts into the female insert on the bottom

frame of the storage cabinet (C). Hand tighten unti Isnug (Do not over tighten), as shown in
figure 4, illustration 2.

Insert the wooden dowels (l) into the holes on the storage cabinet(C). Attach the other side

panel (B) to the storage cabinet (C). Insert the Al len Bolts (G) through the holes on the

cleat and the side frame of the storage cabinet (C) , tighten with the Allen key (Do not over

Illustration.2 lllustration.3

fC

0
" I
< %@ @(
=

F

2
!

g
Grip the cabinet firmly and turn upright. Insert th e wooden dowels (1) into the holes on the
top panel of the storage cabinet (C). Attach the pa rtition panel (D) to the cabinet by
inserting the wooden dowels (l) on the cabinet (C). Insert the Allen bolts (H) through the
holes in the storage cabinet (C) tighten with the A llen key (J), as shown in figure 5,
illustration 4.
Attach the back panel (E) by sliding in the back of the cabinet. Insert the screw (K) into
the predrilled holes on the back panel (E) and tigh ten with the screwdriver (not included).
Insert the wooden dowels (1) into the holes in the cleat of the side panels (B) and partition

panels (D), as shown in figure 6.

on.4
Figl6
Attach the top panel (A) by inserting the wooden do wels (I) on the storage cabinet (C) into
the holes on the top panel (A). Insert the Allen bo Its (G) through the holes on the cleat of
the side panel (B) and partition panel (D) to the f emale inserts in the top panel (A).
Tighten with Allen key (J) (Tighten all connections ), as shown in figure 7, illustration 5.
Put the drawers back the previous positions, as sho wn in figure 8.

Care Instructions:

Avoid direct sunlight and excessive temperatures.

Dust often using a clean, soft, dry and lint-free c loth.
Waxing is not recommended on lacquered finish.

Please wipe up all spills immediately.

Thank you for your purchase
stores | catalog | www.pbteen.com



